

## Disclaimer

The solution at hand was written in the course of the respective class at the University of Bonn. If not stated differently on top of the first page or the following website, the solution was prepared and handed in solely by me, Marvin Zanke. Anything in a different color than the ball pen blue is usually a correction that I or a tutor made. For more information and all my material, check:

<https://www.physics-and-stuff.com/>

**I raise no claim to correctness and completeness of the given solutions! This equally applies to the corrections mentioned above.**

This work by [Marvin Zanke](#) is licensed under a [Creative Commons Attribution-NonCommercial-ShareAlike 4.0 International License](#).

Phys. meaning of reaction matrix R?

H5)  $R := S - \mathbb{1}$

a)  $R + R^\dagger = (S - \mathbb{1}) + (S - \mathbb{1})^\dagger = S + S^\dagger - 2 \cdot \mathbb{1} \quad (*)$

$-R^\dagger R = -(S - \mathbb{1})^\dagger (S - \mathbb{1}) = -(S^\dagger - \mathbb{1})(S - \mathbb{1})$

$\stackrel{S^\dagger = S^{-1}}{=} -(S^\dagger S - S - S^\dagger + \mathbb{1}) \stackrel{S^\dagger = S^{-1}}{=} -(2 \cdot \mathbb{1} - S - S^\dagger) = S + S^\dagger - 2 \cdot \mathbb{1} = (*)$

S is a unitary operator  $SS^\dagger = \mathbb{1}$  because of prob. conservation?

b) We recall some equations we will need for this proof:

Why change position of  $\vec{k}, \vec{k}'$  in f here?

Lecture:  $\begin{cases} f(\vec{k}, \vec{k}') = -\frac{im}{2\pi\hbar^2} \langle \vec{k}' | T | \vec{k} \rangle & (1) \\ f(\vec{k}', \vec{k})^* = -\frac{im}{2\pi\hbar^2} \langle \vec{k}' | T^\dagger | \vec{k} \rangle & (2) \end{cases}$

Sheet:  $\begin{cases} \langle \vec{k}' | R | \vec{k} \rangle = -2\pi i \delta(E_{k'} - E_k) \langle \vec{k}' | T | \vec{k} \rangle & (3) \\ \langle \vec{k}' | R^\dagger | \vec{k}' \rangle = 2\pi i \delta(E_{k'} - E_k) \langle \vec{k}' | T^\dagger | \vec{k}' \rangle & (4) \end{cases}$

What for did they give us  $\langle \vec{k}' | \vec{k} \rangle = \delta(\vec{k}' - \vec{k})$ ?

$\langle \vec{k}' | R + R^\dagger | \vec{k} \rangle = \langle \vec{k}' | -R^\dagger R | \vec{k} \rangle$   
 $= \langle \vec{k}' | R | \vec{k} \rangle + \langle \vec{k}' | R^\dagger | \vec{k} \rangle$

$\stackrel{(1)(2)}{=} -2\pi i \delta(E_{k'} - E_k) \langle \vec{k}' | T | \vec{k} \rangle + 2\pi i \delta(E_{k'} - E_k) \langle \vec{k}' | T^\dagger | \vec{k} \rangle$   
 $= -2\pi i \delta(E_{k'} - E_k) \langle \vec{k}' | T - T^\dagger | \vec{k} \rangle \quad (5)$

Furthermore:

can't I also introduce some  $\delta(E_{k'} - E_k)$  here? But  $q = k'$  doesn't hold here?

$f(\vec{k}, \vec{k}') - f(\vec{k}', \vec{k})^* \stackrel{(1)(2)}{=} -\frac{im}{2\pi\hbar^2} \left\{ \langle \vec{k}' | T | \vec{k} \rangle - \langle \vec{k}' | T^\dagger | \vec{k} \rangle \right\}$   
 $= -\frac{im}{2\pi\hbar^2} \langle \vec{k}' | T - T^\dagger | \vec{k} \rangle$

$\Rightarrow \delta(E_{k'} - E_k) \left\{ f(\vec{k}, \vec{k}') - f(\vec{k}', \vec{k})^* \right\} = -\frac{im}{2\pi\hbar^2} \delta(E_{k'} - E_k) \langle \vec{k}' | T - T^\dagger | \vec{k} \rangle \stackrel{(5)}{=} \frac{im}{4\pi^2\hbar^2} \langle \vec{k}' | -R^\dagger R | \vec{k} \rangle$

$= \frac{im}{4\pi^2\hbar^2} \langle \vec{k}' | R^\dagger R | \vec{k} \rangle = \frac{im}{4\pi^2\hbar^2} \int \frac{d^3q}{(2\pi)^3} \langle \vec{k}' | R^\dagger | \vec{q} \rangle \langle \vec{q} | R | \vec{k} \rangle$

$= \frac{im}{4\pi^2\hbar^2} \int \frac{d^3q}{(2\pi)^3} \left\{ 2\pi i \delta(E_{k'} - E_q) \langle \vec{k}' | T^\dagger | \vec{q} \rangle \right\} \times \left\{ 2\pi i \delta(E_q - E_k) \langle \vec{q} | T | \vec{k} \rangle \right\}$

$= \frac{im}{(2\pi)^3\hbar^2} \int d^3q \underbrace{\delta(E_{k'} - E_q)}_{\delta(E_{k'} - E_q)} \underbrace{\delta(E_q - E_k)}_{\delta(E_q - E_k)} \langle \vec{k}' | T^\dagger | \vec{q} \rangle \langle \vec{q} | T | \vec{k} \rangle$

$\delta(x-z)\delta(y-z) = \delta(x-y)\delta(x-z)$ ?



$$= \frac{i\hbar}{(2\pi)^{3/2}} \delta(E_k - E_{k'}) \int d^3q \delta(E_q - E_k) \underbrace{\langle \vec{k}' | T^\dagger | \vec{q} \rangle}_{\substack{= -\frac{2\omega_k^2}{m} \text{ with } \textcircled{2} \\ f(\vec{k}', \vec{q})^*}} \underbrace{\langle \vec{q} | T | \vec{k} \rangle}_{\substack{\text{with } \textcircled{1} \\ = -\frac{2\omega_k^2}{m} f(\vec{k}, \vec{q})}}$$

$$= \frac{i\hbar}{2\pi m} \delta(E_k - E_{k'}) \int d^3q \delta(E_q - E_k) f(\vec{k}', \vec{q})^* f(\vec{k}, \vec{q})$$

Why does it hold without the  $\delta^3$ ?

$$\Rightarrow \delta(E_k - E_{k'}) \left\{ f(\vec{k}, \vec{k}') - f(\vec{k}', \vec{k}) \right\} = \delta(E_k - E_{k'}) \left\{ \frac{i\hbar^2}{2\pi m} \int d^3q \delta(E_q - E_k) f(\vec{k}', \vec{q})^* f(\vec{k}, \vec{q}) \right\}$$

Setting  $\hbar = 1$  yields the result, as this equation holds for any  $\vec{k}, \vec{k}'$ .

$$c) \text{Im} f(\vec{k}, \vec{k}) = \frac{1}{2i} \left\{ f(\vec{k}, \vec{k}) - f(\vec{k}, \vec{k})^* \right\} = \frac{1}{4\pi m} \int d^3q \delta(E_q - E_k) f(\vec{k}, \vec{q})^* f(\vec{k}, \vec{q})$$

$$= \frac{1}{4\pi m} \int d^3q \delta(E_q - E_k) |f(\vec{k}, \vec{q})|^2$$

$$= \frac{1}{4\pi m} \int d\Omega_q \int dq \delta(E_q - E_k) |f(\vec{k}, \vec{q})|^2 q^2$$

$$E_q = \frac{\hbar^2 q^2}{2m} \\ \Leftrightarrow \frac{dE_q}{dq} = \frac{\hbar^2 q}{m}$$

$$\Rightarrow \frac{1}{4\pi m} \int d\Omega_q \int dE_q \frac{m}{\hbar^2 q} q^2 \delta(E_q - E_k) |f(\vec{k}, \vec{q})|^2 \quad \text{Jac. = det.}$$

$$= \frac{1}{4\pi \hbar^2} \int d\Omega_q \frac{\sqrt{2mE_k}}{\hbar} \delta(E_q - E_k) |f(\vec{k}, \vec{q})|^2$$

$$= \frac{1}{4\pi \hbar^2} \int d\Omega_q \cdot k |f(\vec{k}, \vec{q})|^2$$

$$= \frac{k}{4\pi \hbar^2} \int d\Omega_q |f(\vec{k}, \vec{q})|^2 = \frac{k}{4\pi \hbar^2} \sigma_{\text{tot}}(k)$$

Why not working if using  $\delta(ax) = \frac{1}{|a|} \delta(x)$  then  $\Rightarrow q = k/2$  etc.

No  $|\vec{q}|$  or  $|\vec{k}|$  dependence in  $|f(\vec{k}, \vec{q})|^2$ ?

No  $q$  dependence anymore but  $k$ ?

Setting  $\hbar = 1$  yields the result.

H5) ALTERNATIVE TO b)

$$b) f(\vec{k}, \vec{k}') = -\frac{m}{2\pi\hbar^2} \langle \vec{k}' | T | \vec{k} \rangle \quad (1)$$

$$f(\vec{k}', \vec{k})^* = -\frac{m}{2\pi\hbar^2} \langle \vec{k}' | T^\dagger | \vec{k} \rangle \quad (2)$$

$$\langle \vec{k}' | R | \vec{k} \rangle = -2\pi i \delta(E_{k'} - E_k) \langle \vec{k}' | T | \vec{k} \rangle \quad (3)$$

$$\langle \vec{k} | R^\dagger | \vec{k}' \rangle = 2\pi i \delta(E_k - E_{k'}) \langle \vec{k} | T^\dagger | \vec{k}' \rangle \quad (4)$$

$$\langle \vec{k}' | R + R^\dagger | \vec{k} \rangle = \langle \vec{k}' | -R + R | \vec{k} \rangle$$

$$= \langle \vec{k}' | R | \vec{k} \rangle + \langle \vec{k}' | R^\dagger | \vec{k} \rangle$$

$$\stackrel{(3),(4)}{=} -2\pi i \delta(E_{k'} - E_k) \langle \vec{k}' | T | \vec{k} \rangle + 2\pi i \delta(E_k - E_{k'}) \langle \vec{k}' | T^\dagger | \vec{k} \rangle$$

$$\Leftrightarrow \langle \vec{k}' | T - T^\dagger | \vec{k} \rangle = (2\pi i \delta(E_{k'} - E_k))^{-1} \langle \vec{k}' | R^\dagger R | \vec{k} \rangle \quad (5)$$

$$f(\vec{k}, \vec{k}') - f(\vec{k}', \vec{k})^* \stackrel{(1),(2)}{=} -\frac{m}{2\pi\hbar^2} \left\{ \langle \vec{k}' | T | \vec{k} \rangle - \langle \vec{k}' | T^\dagger | \vec{k} \rangle \right\}$$

$$\stackrel{(5)}{=} -\frac{m}{2\pi\hbar^2} \left\{ (2\pi i \delta(E_k - E_{k'}))^{-1} \langle \vec{k}' | R^\dagger R | \vec{k} \rangle \right\}$$

$$= -\frac{m}{2\pi\hbar^2} \left( \frac{1}{2\pi i} \right) \left\{ \delta^{-1}(E_k - E_{k'}) \int \frac{d^3q}{(2\pi)^3} \langle \vec{k}' | R^\dagger | \vec{q} \rangle \langle \vec{q} | R | \vec{k} \rangle \right\}$$

$$= -\frac{m}{2\pi\hbar^2} \left( \frac{1}{2\pi i} \right) \left\{ \int \frac{d^3q}{(2\pi)^3} \delta^{-1}(E_k - E_k) \left\{ 2\pi i \delta(E_{k'} - E_q) \langle \vec{k}' | T^\dagger | \vec{q} \rangle \right. \right. \\ \left. \left. \times \left\{ -2\pi i \delta(E_q - E_k) \langle \vec{q} | T | \vec{k} \rangle \right\} \right\} \right\}$$

$$\delta(E_{k'} - E_q) \cdot \delta(E_q - E_k)$$

$$= \delta(E_k - E_q) \delta(E_{k'} - E_k)$$

$$\Downarrow \\ = -\frac{m}{2\pi\hbar^2} \frac{2\pi}{i} \left\{ \int \frac{d^3q}{(2\pi)^3} \delta(E_k - E_q) \langle \vec{k}' | T^\dagger | \vec{q} \rangle \langle \vec{q} | T | \vec{k} \rangle \right\}$$

$$= \frac{i m}{\hbar^2} \left\{ \int d^3q \delta(E_k - E_q) \left( \frac{2\pi\hbar^2}{m} \right)^2 f(\vec{k}', \vec{q})^* f(\vec{k}, \vec{q}) \right\}$$

$$= \frac{2\hbar^2}{2\pi m} \int d^3q \delta(E_k - E_q) f(\vec{k}', \vec{q})^* f(\vec{k}, \vec{q})$$

So I got an  
 $\frac{2\hbar^2}{m}$  and used  $\delta^{-1}$   
 (5) ... ? How to avoid